.
>
@
m
2

ILVINO
H &

SKF 4 JAW UNIVERSAL SCROLL CHUCK(FRONT
AND BACK MOUNTING)

1. EREE

2 R E o —A
SEREERERR

1.Plain back
2.Standard accessories: 1 set two—piece hard jaws
3. High accuracy on repeating clamping

E

24
32
45
58
58
70
89
105
127

#H#& / Specification
Mgogdi;//%ﬁ c Max%\ﬂ%ﬁaﬁﬁeﬂfgque Maf )Gutr?zpyiiz%go]rce
N*m KN

SKF-04* 44 12
SKF-05* 63 15
SKF-06 88 31
SKF-07 107 31
SKF-08 128 33
SKF-09 147 37
SKF-10 176 46
SKF-12 206 55
SKF-14 225 55
SKF-16 245 60
B/

Model/Spec N = v
SKF-04* 112 58 80 95
SKF-05* 132 60 100 115
SKF-06 167 66 130 147
SKF-07 193 76 155 172
SKF-08 203 76 160 176
SKF-09 233 84 190 210
SKF-10 273 86 230 250
SKF-12 310 96 260 285
SKF-14 355 122 300 328
SKF-16 405 122 345 375

i BIIRIEELR4 B4 ; Note: The front mounting bolts are 4pcs

RERFELWER, BMABITEM Subject to technology changes without prior information
EHEFE R AT Non-standard requirements can be made

160

L
back mounting
G
——
u]
—EYE
<ofojw ] K
QI Q Q)
i)
.__:_._ -
AISHFL , B
front mounting
% N,
G
B o &
W%ight REHE o.n%ﬁﬁﬁggfnge
Kg RPM mm
3.1 2500 3-90
4.4 2500 3-110
11.4 2000 8-160
12.2 2000 8-180
16.2 2000 8-180
21.2 2000 11-220
28 1800 12-260
41 1800 15-300
54 1500 15-350
74 1500 30-400
F G H
4.5 3(4)-M8x1.25P  46.5
4.5 3(4)-M8x1.25P 56
) 3-M10x1.5P 67
) 3-M10x1.5P 80
) 3-M10x1.5P 80
6 3-M12x1.75P 80
5.5 3-M12x1.75P 95
7 3-M12x1.75P 110
7 6-M12x1.75P 110
8.5 6-M14x2P 130

19
22
25
30
30
30
36
42
42
45

B /UNIT:mm

R FEHEE

mm
32-84
35-100
55-150
62-170
62-170
70-210
80-250
90-290
100-330
110-380

32
40
43
47
47
46
54
63
63
72

1.D. Clamping Range

11
11
11
14
14
14
14
17



